Slide Rack Assembly Manual

SR-CN Type

* Thank you for purchasing our bicycle rack.

* Read this manual for corre

ct enforcement.

Daiken Co., Ltd

IIIII

SR-CN (1)



1.

10.

11.

12.

Enforcement Remarks

Slide Bracket mounting position changes according to the combinations
of Two Tier Rack + Slide Rack or only Slide Rack

. Make sure to enforce and assembly product based on this manual.
. Make sure to install product on solid basement.
. Make sure to install product horizontally.

. Don't install in rooftop and cliff top where strong wind blows and

basement is not stable.

. As Slide Rack fixed by anchor, concrete basis construction is required.

Avoid hitting anchor on places other than concrete(Asphalt)

. Hit Anchor on fully dried state concrete.

. To prevent anchor loosen, eliminate concrete powder between concrete

and product or in anchor hole.

. Make sure to follow in the anchor prepared hole diameter.

Don't remodel to prevent trouble.
Use protection tools like grove for assemble work safety.

After assembly completion, make sure to confirm screw loosen
on every parts or rack movement smoothly.

SR-CN (2)



[Packing List]

Packing No. Product Name Material Name 6N 10N |R5N |R6N |R7N |R8N
Rail 2 2 2 2 2 2
Rail connection parts 3 4 2 3 3 3
Rail Rail spacer bag l 1 1 1 1 l
@) Slide stopper bag 1 1
Rail connection bracket bag 1 1 1 1
Rail screw bagage 1 1 1 1 1 1
Rack 2 2 2 2 2 2
Slide Bracket A 2 2 2 2 2 2
Slide Barcket B(High) 1 1 1 1 1 1
@ High/Low Unit Rack |Slide Bracket B (Low) 1 1 1 1 I 1
Rack screw bag A 1 1 1 1 1 1
Rack enforcement board bag 1 1 1 1 1 1
User's manual bag 1 1 1 1 1 1
Rack 1 1
Slide bracket A 2 2
® Low Unit Rack Rack screw bagage B 1 1
Rack enforcement board bag 1 1
User's manual bag 1 1
[Accessory Parts]
Bag Name Name Size 6N 10N |R5N |R6N [R7N |R8N
Rail spacer bag Rail spacer < ¢ 6 8 4 6 6 6
Slide stopper A @ 2 2
Slide stopper bag :
Slide stopper B J% 2 2
Rail connection bracket bag| Rail connection bracket % 2 2 2 2
User's manual User's manual A 6 10 5 6 7 8
Rack enforcement board bag| Rack enforcement board 3 5 3 3 4 4
Truss small screw (Type 2) 5% 10 12 16 8 12 12 12
Hex bolt M6 X 25 12 16 8 12 12 12
Hex nut M6 12 16 8 12 12 12
Rail screw bag Cross hex bolt M6EX 10 8 8 8 8 8 8
Pan head small screw (Type 2) o 5X%X20 4 4
Curved spring pin ©4.5X20 4 4 4 4
Anchor M8 X 70 6 8 4 6 6 6
Cross hex bolt MG X 12 36 60 28 36 40 48
Rack screw bag
) 3 5 3 3 4 4
Truss tapping $5x10 (1x3)_[0xe) [1x3) [ax3) [oxa |[ox

[Parts Shape]




Rail fitting diagram

Storage capacity bicycle rack : 10 units

Wall et 250
(10N Model) ’/& *Anchor drill diameter 8.5mm 01 op
Hole depth 58mm
o (3695, 369.5 © (Drill hole a little deeply
RS 126 847 847 849 125 oS  according to concrete state) l@ -
- I I - 3
S £ Anchor gl
=& = 5 M8
[ o0 [de] _S
£ I | i & G.L. ,.4%{
& N8 anchor ‘ <
y l\/l8 % @ 8
244h 2791 (Rail Legth) 12445
3280 (Installation Space)
2250
*Above diagram shows slide rack installation only.
Refer to the above one from wall distance etc.
Storage capacity bicycle rack : 11 units Storage capacity bicycle rack : 12 units
(6N Model + R5N Model) (6N Model + R6N Model)
3011 (Total Rail Length) 3231 (Total Rail Length)
1911 (6N rail model) 100 (RSN rail model) 1911 (BN rail model) 1320 (R6N rail model)
125 830.5 8305 250, 850 125 125 8305 8305 250 535 _ 535 _ 125
| a=t & PR & _ [ 41 P & &
= 2 5 e
3 = n . S A= ‘ .
L= - B R M—"— W R R
& \J0- Anchor & \12- Anchor
M8 M8
Storage capacity bicycle rack : 13 units Storage capacity bicycle rack : 14 units
(6N Model + R7N Model) (6N Model + R8N Model)
3451 (Total Rail Length) 3671 (Total Rail Length)
1911 (6N rail model) 1540 (R7N rail model) 19116N) 1760 (RBN)
129 8305 . 8305 280 645 _ 645 _ 125 125] 8305 .. 8305 2%Q. 756 . 755 125
] Ny Py & & &S ' | 4 & %
SIE (=2 =z |<o&
| s o & k=]
S = - . S A= ‘ ,
T—"— RS 3 R Rl U—"— RS Rl Rl
& 12- Anchor & \12- Anchor
M8 M8

Storage capacity bicycle rack : 15 units
(10N Model + R5N Model)

3891 (Total Rail Length)
2791 (10N rail model) 1100 (R5N rail model)
47 ‘ 847 ‘ 847 0. 850 1125
< & & r

~no
(&3]
Q0!

a$—‘—l_\)

697
(Rail outer dim.
771
M [{Anchor pos.)| 2

W e T
12- Anchor
M8

23]

SR-CN (4)



Storage capacity bicycle rack : 16 units

(10N Model + R6N Model) ,
47111 (Total rail length)

2791 (10N rail model) 1320 (RGN rail model)
125 847 847 847 2bQ. 535 _ 535 125
I T Py Iy &
£ = =
oz |[—|&
& = - ,
=" R | B R R
& 14- Anchor
M8
Storage capacity bicycle rack : 17 units
(10N Model + R7N Model)
4331 (Total rail length)
2791 (10N rail model) 1540 (R?7N rail model)
125 847 847 847 2bQ., 645 . 645 _ |125
&= Y Pl & -
£ = =
~5 |—-&
Q|3 £l
5 =
S — = ¥ e = -
& 14- Anchor
M8

Storage capacity bicycle rack : 18 units
(10N Model + R8N Model) 4551 (Total rail length)

2791 (10N rail model) 1760 (R8N rail model)
125 847 847 847 260 75h 755 1125
| 4= & & I + &

£ 2
| S —| 8
B33 &2

s =

T = - o - -

& 14- Anchor
M8

Storage capacity bicycle rack : 19 units

(6N Model + R8N Model + R5N Model)
4771 (Total rail length)

1911 (6N railmode) . 1760 (R8N rail model) 1100 (R5N rail model)
125 8305 8305 250, 755 755 250, 850 125
_ 18 #£ & & JE &
5 2
| & —| 8
Q3 &2
T =
= o — S - e w
& \6- Anchor

M8

Storage capacity bicycle rack : 20 units

(6N Model + R8N Model + R6N Model)
4991 (Total rail length)

1911 (6N rail model) 1760 (R8N rail model)

1320 (REN rail model)

125 8305 8305 B0 755 755 280 535 __ 535 _
= Py Py Py Y
s |[-|&
J3 |58
5 £
= T e =3 S e B
& \8- Anchor

M8

SR-CN (5)




Rail Model Combinations

Modell " 6N Model | 10N Model | RSN Model | R6N Model | R7N Model | R8N Model | Tota! Rail Length nstallation Space
Units (mm) (mm)
6 1 1911 2400
7 Sp) 2137 2620
8 ) 2351 2840
9 ) 2571 3060
10 1 2797 3280
11 1 1 3011 3500
12 1 1 3237 3720
13 1 1 3451 3940
14 1 1 3671 4160
15 1 l 389 4380
16 1 1 4117 4600
17 1 1 4337 4820
18 1 1 4551 5040
19 1 1 1 4771 5260
20 1 1 1 4991 5480

*In case of Bicycle Rack 7~9 units, Cut the rail from No. SR-C10N(10units) Standard Type Rail.

*If installations with 5 storage units or less, installation space is smaller in 220mm every less
one rack. Also cut 6N rail model in 220mm.

*Install each 20 units with a rail spacing of more than 50 mm.

SR-CN (6)



Dimensional drawing

Storage capacity: 10 units (Two-tier rack + Slide rack)

SR-C 10N Model

N -
— g
R i : :
i = =
)
L ‘ Il'i L H ; L = H = H L H
220|220]220| Rack 600
Slide Space
0345 2800 (220X 104600) —{ous5 H
3280
Front View
2 B |
[¢0) ﬁ 11 l
§ | 3 Side View

2427
751

I 4 Remarks !

Construction assembly in accordance
with the assembly for low unit(Page.9
@) and high unit(Page.10 @).

556

N If construction assembly is wrong, there is
2 L y 4 a case bicycle doesn't fit in rack by the

c interference between upper rack and

E .

é Plan View bleC|e-

Dimensional drawing

Storage capacity: 6 units Only Slide Rack

L (Low) M

H 1| it
. j‘ NI
e

220[220[220[220[220 600|220
2345 1920 Side Space 2455

H" (High)

2400

o Plan View

m

549
397

Side View

' Remarks \

Construction assembly in accordance
with the assembly for low unit(9.
page@) and high unit(10. page@).
There is a case the bicycles may increase
an interference each other if construction
assembly is wrong because the original
position is set to less the interference.

2198
1911
751

611

287

Plan View

Passage Width

1500mm

SR-CN (7)



(D Rail Spacer Mounting (Common in Front and Rear Rail)

Truss small screw
»5x10 (Type 2)

Rail Spacer '/j\T
]

Rail Spacer

(Back side)

Rail Spacer

@ Rail Assembly

Hex bolt

4

Rail
(Back side)

N Rail connection parts

*Tighten the nut after
inserting the hex bolt that
fixes a rail connection parts
and rail spacer like below

i drawing.
(Ba?l?lside) Hexagonal bolt

%/ m
Hex nut

*Assemble the rail with its groove side facing inward. b
g 8 Anchor hole — |

SR-CN (8)



(® Rail Enforcement

*Make sure to enforce the rail horizontally.
If slope arises, adjust the level using liner plate etc.

Install in the floor level where the cross direction slope is less than 0.5% and front-back direction slope is 1%.

Ex.) Cross direction

1000mm
5mm

Anchor
M8x70

Curved spring pin

p4.5%x20
Cross bolt

Rail connection parts

Cross hex bolt

*Insert half of the curved spring pin into one end of
the rail using a hammer etc, and the other half into
the other end of the rail.

A : Shows bicycle storage direction
Remarks seal

Enforce the anchor in the certain position and fix the rail by hex nut(M8).

Combination case with two-tier rack

* Slide Bracket Mount Hole

* Temporarily tighten the hex bolts. =1
=
If much interference between Mount hole
C hex bolt bicycles, insert the screw in the for lower rack
g -ross hex bo hole of *1, then mount the slide -
MBX 12 bracket. That will increase the o d
Z8 Front-to-rear difference by 50mm
between high and low rack. 0o
Standard
mount hole
| position
Slide Rack
Rack enforcement board E .- i
(Low position rack only) = = =
Cross hex bolt 4 B
1] *1
Truss tapping
Slide Bracket A Q@ ¢»5X%10
0 df
00
00
*Please be careful for
slide bracket attachment. Standard
Wheel side is inside. mount hole
position
— —
E|¥/=
) ~.
e 5 ) - ﬂ "
Side View(Standard) Side View(Front side) s

SR-CN (9)



(B) Assembly of Slide Rack Slide Bracket B (For High Unit)

I @ Slide Bracket Mount Hole
* Temporarily tighten the hex bolts. SR

4 1p

Mount hole

Ells

Cross hex bolt

Slide Rack
’/ Cross hex bolt
MBX 12

Mount hole
0

*Please be careful for E o i

—ls ¢| =

slide bracket attachment.
Wheel side is inside.

00
00
Side View I °g° |
(B) Assembly Slide Rack & Stopper
1) Insert Slide Rack in Rail.
Slide rack Slide bracket
\ Slide stopper B part

2) Mount stopper

Slide stopper A

Cross hex bolt ¢~
MBx 10 !

Pan head |f
small screw(Type 2) o2

p5x20 Rail Slide stopper A part
Slide stopper

Slide stopper B
Cross hex bolt

SMBX10
°F

S¢

©
5x20 . .
fan head small screw(Type 2) Make sure to confirm the movement after slide rack assembly.

Slide stopper

SR-CN (10)



(@)Assembly of Slide Rack Slide Bracket A (For Low Unit)

< Cross hex bolt & Temporarily tighten the hex bolts. @ slide Bracket Mount Hole

g;é MBX 12 S
v q =]
Q\, Mount hole

| /=
Rack enforcement board E ; ;I
(Only applied for low unit)

]

Slide Rack

Cross hex bolt

M6 x12 — Mount hole

=l

Truss tapping

i1l

*Please be careful for

7
slide bracket attachment. \
Wheel side is inside. -
OOO
N

i
2 -
Side View [eloTo

(B) Assembly of Slide Rack & Slide Bracket B (For High Unit)

Mount the bolt after
removing the slope
as left drawing.
After mounting the
bolt, restore the oo
slope to the original =
position and tighten
the bolt of slope
tightly. lo]

Mount hole

Slide rack B E i 3

Cross hex bolt M M

@O0 OCe

00
Mount hole
=
Slide bracket B(Low) = 'O" =
*Please be careful for
slide bracket attachment. e
) i Wheel side is inside. °
Side View [c[o 10

Refer to W~®) « (6) about rail and stopper assembly.
SR-CN (11)



